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Raa Without efficiency correction

Ran is lower than 0.1

is compared with b-quark Raa at 2.76 TeV




New ntuple

- new ntuple with new skim is ready
- PbPb

JSON file: /afs/cern.ch/cms/CAF/CMSCOMM/COMM _DQM/certification/Collisions15/HI/

Cert 262548-263757 PromptReco_HICollisions15_JSON_MuonPhys_v2.txt

Global Tag: 75X_dataRun2 v12
Location: /xrootd/store/user/goni/160323 HIPromptReco(KISTI)

" PP

Location: /xrootd/store/user/goni/PromptReco/DoubleMu_Run2015E-PromptReco-
vl _Run_262081.262328 ONIASKIM_ 160116/DoubleMu/DoubleMu_Run2015E-PromptReco-
v1_Run_262081_262328 ONIASKIM_160116/160115_152651/0000(KISTI)

- MC

Hyunchul is working on(Current MC file is not available to obtain correct efficiency)
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http://cern.ch/cms/CAF/CMSCOMM/COMM_DQM/certification/Collisions15/HI/Cert_262548-263757_PromptReco_HICollisions15_JSON_MuonPhys_v2.txt

Fitting function
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critical

.- Other cuts and pp
results study needed
to valid fitting
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Fitting looks successful
except 5 < pt < 8 region

More study needed for
5 < p7 < 8region
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pp track pT variation(5 < pTy < 8)
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DT track variation does not improve background shape in
the 5 < pTg < 8 region




pp track pT variation(8 < B ; < 10)
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Too low pT track cut breaks background fitting

Raw yield Raa measured without 5 < pTg < 8 region
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- Fitting function describes pp result well except B meson
DT < 8 region

- Variation of track, muon, J/psi pt is not solution of pt < 8
region Issue

- Optimal cut study for PbPb is needed

. Raa with raw vield is lower than 0.1
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Non-Prompt shape

-+ 1. B*=J/p + n*(Double Gaussian)

. 2. Muti-body decay(Gaussian)
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